Students Learning Outcomes

After studying this chapter, students will be able to:

> Convert decimals to rational numbers. | 2 it afte

P Define terminating decimals as decimals having 2 er of t:-l'E' At
mals in which a single digit or a

» - Define recurring decimals as non-terminating deci e ) |
itself an infinite number of times after decimal point (.8, = 0.285714285714285 pAGEE
| s terminating or not.

¢ the decimal point.
block of digits repeate

> " Use the following rule to find whether a given rational number i | e Aasas
> Rule: If the denominator of a rational number in standard form has no prime factor O an Z,5or)
and 5, or 2 and 5, then and only then the rational aumber is a terminating decimal. e .

> Express a given rational number as a decimal and indicate whether it is terminating or r*ecurrl_ng_

> Get an approximate value of a number, called rounding off, to a desired number of decimal places,l

SOLVED EXERCISE 3.1

1.  Convert Eﬁe following decimals into Rational numbers.
Solution: ; |

| : | : _
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SOLVED EXERCISE 3.2

without actual division, separate the terminating and non-terminating decimals.

soluﬂon: ey
i (terminating) (ii) (terminating)
il (non-terminating) | |
) (non-terminating) (v) (terminating)
wi) - (non-terminating) §%, |
wil (non-terminating) (viii)  (non-terminating)
), express the following rational numbers in terminating decimals
solution |
0 = 0.02
_ 0.02 0.62
100)200
, 50i310
. 200 300
,- 0 100
_/n =1.35 100
B 13 . 0
' 20i27 |
0 0.005
60 ,100055000
100 5000
100 . al
: |
o 2.5
0.12 | 8j20_ '
25)30 19..
75 40
e 40
50 !
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30 0 192
2430 ‘ 80
T | 64
(ix) " | 160
0.75 - E_Zf__
| ' ettt 167320
ko ' 320
160 ' 0
160
0
3 Express the following rational numbers in non tern)inating decimals
Solution:
(i) - | (i) .
1.333 0.615384
' | | 13)80
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—a | ' 20
10 S b e
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10 e | 65
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TR | 39
10
9 | 110
& ' 104
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52
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| 8 0615384
138




-
’m
10

0.285714
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40
36
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(vi) |
0.583

12 570
60
100
96
40
36
4
L 0SS
12
(vii)
- 045
11 ) 50
44
60 |
35
5
LT
1
| Sy Round off the following decimals up to three decimal places.
Solution: | |
(i) 5.41679 = 5.417 (i) -+ 11.10365=11.104
(1ii) 0.92517 = 0.925 (iv) 3.10351=3.104

(v)  0.74206 =0.742 (vi)  23.15147-23.151
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SOLVED REVIEW EXERCISE 3

Answer the following questions*
pDefine the terminating decimals.
Answer: | '
A decimal in which the number of digits after the deci tnt 3 -
: ecimal : 3k i
W Wme the names of two classes of decimals tddsie oot LS

1.

Answer '
(a) Terminatingdecimals . = (b) NOn.ter i tnat Y
_ Sy - inating decimals
(if) Which non-terminating decimals are called recurring decimals?
- Answer: y* | :

The non-terminating decimals in which a single digi _ _

e I gle digit or a block of digi ' infint :
Jfter the decimal point is called recurring decimal. B digits repeats itself infinite num*_ber of times
(v) How many digits after a decimal point show a non-terminating decimal?

Answer:
Infinite

(v)- Write the rule to find whether a given rational number is terminatihg ;r not.

Answer: _ |

if the denominator of a l:ational number in standard form has no prime factor other than 2, 5 or 2 and 5, then
and only then the rational number is terminating decimal.

(vij  What is meant by the term round off in decimals?

Answer:
The term round off is used to leave the digits after the decimal point.

v

2. Fill in the blank.

' (i) A " decimal may be recurring or non-recurring.
(i)  Two parts of a decimal separated by a dot is called the
(iii)  Interminating decimals, division after a finite number of steps. -
(iv) In decimals, the term round off is used to leave the digits after the
(v) A fraction will be terminating if the has 2 or 5 or both as factors.

non-terminating (i) | decimal point iy
po )L denominator T

Answers:

e
() |decimalpoints

3. Tick () the correct answer. o i
(i) To separate 2 whole number from fractional part in a decimal, we use the symbol,
(a) p - (b)) = () s T

up to two decimal place, we get:

(i)  If we round off the decimal 3.7461
| ' (@ f3ss (A TS

() < 3.74 (b). B3¢/ | T
(i) A rational number is terminating decimal, if its denominator has no prime factor other than:

(a) 2 and 3 (b) 3and> _ _ _ A
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(c) 2 and 5 (d) 2 and 7
(iv)  When we change 0.25 to the rational number, we get; i
(a)  25/100 (b): 57200 (¢) 1/4  (d)

Answers: m _
: e . R

4. Convert the following decimals into rational numbers.
Solution:
(i) 0.375 = (ii) Q25=
(iii) 0.5= lv) 4.75= |
(v) 0.79= (vi) 1.29-= (vii) 2.34=
5. Convert the following into decimal fractions and identify terminating and non-terminating
fractions.
Solution: | ' |
(i) = 0.8 (terminating) . (ii) = 0.9166 (non-terminating)
(iii) = 0.888 (non-terminating) (iv) = 0.142 (non-terminating)
(v) = 3.142 (non-terminating) (vi) = 3.5 (terminating)
(vii) = 0.3 terminating
6. Round off the following up to 2-decimal places.
Solution: L.
(i) 4,5723 = 4.57 (ii)  107.328 = 107.33
(i) 5.7395=5.74 (iv)  6.7982 =6.80
(v)  25.4893 = 25.49
’






